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Q1. & sufed M 3R N Sl 915 Wiled &, M 3Tt 915 B 25% TTH TR °d1 § 3R N
Y ASH BT 16% P 1 WR J=aT 8. i M gRT &=fY 7S a5 +1 fawwy geu
54,000 T g 3R G| I15% $T H Yed A § d N & §RT (U1 915 fha o
A I TS

(a) Rs. 32,688

(b) Rs. 36,288

(c) Rs. 38,268

(d) Rs. 34,688

(e) Rs. 32,488

L1Difficulty 2

QTagsProfit And Loss

QCreatorDeepak Rohilla

Q2. f. Rig &1 ATRI® 39 45,000 FUT 8. 98 5000 YT WMH T TYT WY BT 25% TR
P fPIIY 3R T P RI&T TR TUT [ BT 20% WM W 91 [ 7y H1 98 T
I ¥ fawr &dar g st ufaad 109 &1 g1 st ¢ 8. 319 Sifore % v ada
q1¢ Wi gRT 1. Rig @t v o i feant 0 @)

(a) Rs. 26,520

(b) Rs. 22,520

(c) Rs. 24,200

(d) Rs. 26,400

(e) Rs. 24,720
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Q3. T A 3R B THM ¥ I GuH ez # 9a 381 8. a9 A B fd ¢4, B ot i
®1 5/4 8. 9f¢ 31 B TP WeWTH oI 32 Adhs § UR B! g al 21 A I WewTH oI
fram vy § UR B3, af 39 B F wars 200 § ok 39 A P farE, T FY
WaTs & 125% B, 3R 3 A TP fdd &) 10 b s A UR el 372

(a) 10.8 ¥H3S

(b) 12.8 ¥HS

(c) 18.4 TS



(d) 14.8 &S

(e) 27.6 Hs
L1Difficulty 2
QTagsTrains
QCreatorDeepak Rohilla

Q4. TP X B HUTS, T fHfeis ot Sa1s & 7/4 YN 8. U ffeis? o1 3maad, 39
%W?W%mﬁwzzﬁ%.mmﬁm7ﬁ%aWaﬁ

(a) 77 |t

(b) 66 |t

(c) 121t

(d) 111 4t

(e) 55 |

L1Difficulty 2
QTagsMensuration
QCreatorDeepak Rohilla

Q5. BN, TP e, TART A Ueh ATgfpd W fAdadr 8. 1.5 Ue d@ 16 feHl 7 ger
$1 A A YT HA & 91, T8 1.5 U & folg U WU IR Tohdl g 3R fb g0 i
¥ AT3fPd T 3R BT 8. PIH B IHT = 811 & IR e 18, SHPT G
3R WY Mgs IH TP Medrsird IR TaRT A fAddd 8 ok &3 &1 JuH
fa=m A 28 fft / g1 31 f A o € 369 F FHA9 | 3 Fpaq F uga 98 fra-t
o T B AN

(a) 88 foorit

(b) 90.33 fHit

(c) 93.33 foptit

(d) 96.66 fdHl

(e) 98 Tt

L1Difficulty 2
QTagsSpeed Time Distance
QCreatorDeepak Rohilla

Q6. WW%ﬁﬁWﬁW(garhage disposal) MAATPR P A Gﬁ'\"B%
Rt dars pawr: 12 Hiew 3R 15 Hiex &. mmﬁﬁmmm
BT FA ATHT 360 T Hiex 2 3R G JAATHR TH! I AISTE avf B Yo 3T 1/3 2,
o PR & &1 ulaTg feaar g2 ¢ Hiew #)

(a) 92
(b) 84



(c) 96

(d) 78

(e) 72

L1Difficulty 2
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QCreatorDeepak Rohilla

Q7. U Hed TP HU | dTe¥ AT B HIRIRT Hal ¢ foras! Hiadt Tae # fraaq g1
SaRI # fPaed & FRUT 40 HieX W H aTd TP Ta19 IR Hed 20 Hiex A
firaa orar 31 afe ¢ 3t g1 2007 € A fova=t warsdl | Hew T avE ¢ 916
3T ST

(a) 10

(b) 9

(c) 11

(d) 12

(e) 8

L1Difficulty 2
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QCreatorDeepak Rohilla

Q8. P 3R Q gl U g1 U P ¥ ufifes uiis ok srewiga & fHyvr &1 3rqurd 11:13
21U Q ® P & o firyur 8 forw srepiea &1 eRifes ufres & squra 7:5 81 afe
UTH P T 48 Wlex YT, Uty Q & 36 eitex fArgor & |1y fAramar sirar 8, 9t <4 &)
foreme W W T U fAyor # srepigd ofik uiifes uiis &t pa=: A 3
Bifore|

(a)49L, 35 L

(b)11L, 73 L

(c)47L,37 L

(d)52L,32 L

(€)45L, 39 L
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QTagsMixture and allegation
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Q9. M 3R 5] U B H HHRT: 30 3R 45 a1 ¥ B 81 98 TP W14 S HA7
TRE B4 & 3R IR B & 6 A & 918 T ST SIS AT ® 3R TP a1 Afd
e, forae! srderar, I5] # Sri&dr &1 5/4 YR €, 98 I & J1Y J3a1 2 189
Xy B fora= fet & QT B

(a) 120/11 &7

(b) 130/11

(c) 13fea

(d)8faa



(e) 125/11 f&A
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Q10. TP HAfRT 20,000 UT TH d§ T IYR AT g1 <9 aul & forg 8 i sremr
3T <3| YR Teh g SATST BT YIAT ST & HHR: Ugd, O 3N TR a9 & forw
5%,10% 3R 20% Wi T SATST g3 T YA BT 8| A aul & YT Afad GRT
YITAT D A1 qTeil STl BT Fe A 71 BIforg?

(a) Rs. 7,270

(b) Rs. 7,720

(c) Rs. 8,720

(d) Rs. 6,720

(e) Rs. 7,740
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QCreatorDeepak Rohilla

%Directions(11-15): & 72 oRge # Ted Ue 1d 1 Bifore, St Ue BT ure et dRar
?

Q11. 480, 960, 320, 1280, 272, 1536
(a) 960

(b) 272

(c) 1280

(d) 320

(e) 1536

L1Difficulty 2

QTagsWrong Series

QCreatorDeepak Rohilla

Q12. 210, 197, 171, 135, 80, 15
(a) 197

(b) 15

(c) 80

(d) 171

(e) 135

L1Difficulty 2

QTagsWrong Series

QCreatorDeepak Rohilla

Q13. 4, 3, 5 14, 60, 528
(a) 60
(b) 4



()5

(d) 14

(e) 528

L1Difficulty 2
QTagsWrong Series
QCreatorDeepak Rohilla

Q14. 9, 63, 25, 216, 49, 512

(a) 25

(b)216

(c) 63

(d) 512

(e) 49

L1Difficulty 2
QTagsWrong Series
QCreatorDeepak Rohilla

Q15. 224, 118, 184, 468, 1648,
(a) 224

(b) 118

(c) 1648

(d) 468

(e) 184

L1Difficulty 2

QTagsWrong Series

QCreatorDeepak Rohilla

S1. Ans.(b)
C.P. of each bike = 54000 X g

= Rs.43,200
- Selling price of bike sold by N

= 43,200 X —
100
Sol. = Rs.36,288

S2. Ans.(c)

7421.5

Solutions



Spending on food = 5000
On house rent and education of children
= 40,000 X —
100
= 10,000
On shopping = 30,000 X % = 6,000
~ Amount in vested in scheme
= 45000~ (5000 + 10,000 + 6,000)

= 24,000

~ Sum obtained by Mr. Singh from the

scheme after a month = 24,000 + 22222*1¢
100x12

Sol. = Es. 24,200

S3. Ans.(e)
Let length of platform = x metre
And speed of train B = 4y m/sec
-~ speed of train A = 5y m/sec

ATQ,

x+200
= 32
4y

= x — 128y = —200

And length of train A = 200 x % = 250m
250
= =10=y=5
- Speed of train A = 25 m/sec
And speed of train B = 20 m/sec
= Length of platform =128 = 5 - 200
= 440m
. Time required by train A to cross the platform
_ 440+250

25
Sol. = 27.6 sec

S4. Ans.(c)
Let height of cylinder = H metre
= Volume of cylinder = mr*H
r = radius of cylinder

“EXTXTXH=22X22x 22

7
484 7
.. Height of cone = X 3

Sol. =121m

S5. Ans.(c)



Distance covered by Karim in 4 hours
=15=16+1=16
=40 km

=~ time taken by Rahim to overtake Karim
40

~28-16

40 10

1273

~. Distance travelled by them
10

Sol. = 93.33 km

S6. Ans. (c)
Let side of square field = a mtere

~ Breadth of rectangular tanks =§ metres

ATQ,

2 _12a _15a _

a 3 2 = 360
=a’°—9a—360=0
= a=24m

Sol. Perimeter of square field =96 m

S7. Ans.(b)
In first attempt frog climbs — (40 — 20) = 20m
-~ Total no. of attempt = % -1
=9

Sol.

S8. Ans.(c)
i 13 z
Quantity of alcohol = 22 X 48 + The 36
= 47 litres
Quantity of acetic acid = % ® 48 + % X 36
Sol. = 37 litres

S9. Ans.(a)

Sol.

Let total work 90 (LCM)

so, efficiency of Ravi and Raju is 3 units/day and 2 units/day respectively.

Efficiency of Sohan= 2 X % = 2.5 units/day



D
3/, /2

30 45 36
Ravi Raju Sohan
Total workin6days=(2+ 3) x 6 = 30
Remaining work =90 — 30 = a0

Time to complete remaining work

a0 a0 120
3+> 55 11
2

S10. Ans.(b)

Total sum after three years

= 20,000 X —= x 1205 220
100 100 " 100

=27,720

~ C.I. paid by man to bank

= 27,720 - 20,000

Sol. = 7,720 rupees

S11. Ans.(b)
Sol.

480 960 320 1280 [256] 1536
I Il Il I I

x2 1 x4 1 x6
X— X—

3 5

S12. Ans.(e)
Sol.

210 197 171 [132] 80 15
I Il 1l Il !

-13 -26 =39 -52 -65

S13. Ans.(a)
Sol.

4 3 5 14 64 528
| | I | I |

x0.5+1 x1+2 x2+4 x4+48 x8+16

S14. Ans.(c)
Sol.
9 25 216 49 512

l l l l l l
32 43 52 63 72 83



S15. Ans. (c)

Sol.

Wrong number = 1648
Pattern of series

224 118 184 468 1647| 7421.5

I I I | |
x0.5+6 x1.5+7 x2.5+8 x3.5+9 x4.5+10




